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4 3 1 2 2 4 1 2 9 10
40,932 9,999 5 5 50,931
BEEFM)
35,000 48,616 21,372 20,978 20,171 60,440 10,177 2,125 5,027 28 91,747 132,187
<SR >
A 48 REt GRERIE)
BAEH ) EAE (N) Eoestus - qCL)l W AB(N)
AR R5 R4 Jod 1 R5 R4 Jod 33 R5 R4 J=d 3 R5 R4 EeE
&t 1,879 1,781 98 1,729 1,643 86 7,911 7,547 364 7,110 6,876 234
2R 1,298 1,246 52 1,196 1,148 48 5,601 5,371 230 5,009 4,867 142
EPLEN 107 114 -7 99 104 -5 439 415 24 414 389 25
—Ras 276 230 46 260 217 43 1,087 968 119 988 910 78
Z D 198 191 7 174 174 0 784 793 -9 699 710 -1
< #BhKH >
B 4H RETGRIRME)
BN 5K (1) HEANE (N) BN 5K (1) BEINE (N)
AR R5 R4 Jad 3 R5 R4 Jad 4 R5 R4 teE R5 R4 23
&it 6 7 -1 2 5 -3 26 39 -13 14 31 -17
KK 1 -1 1 -1 1 6 -5 6 -6
RBEEW 2 3 -1 2 -2 12 16 -4 5 15 -10
IKEE S 0 0 2 3 -1 2 2 0
L7 X g 1 1 0 1 -1 2 1 1 1 1 0
BWMECLDEHR 1 1 1 1 3 3 3 3
HRARUEER B 1 -1 0 1 -1 0
ZDfth 2 1 1 1 1 0 6 12 -6 3 7 -4
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